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T.Y. B.Com. (Semester - V)
BUSINESS REGULATORY FRAMEWORK - | [35]]
(CBCYS) (2019 Pattern)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

1) Q.No.1& Q.6 arecompulsory.

2) Solveany 3(Three) questionsfromtheremaining questionsno's2, 3,4 and>5.

Q1) A) Fill in the blank. (Any Five) [9]
1)  When the consent of party is not free, the contract is
(void, voidable, valid)
i1) The purchasing price of the promise is
(Consideration, Profit, Gain)
iii)) Every Partner is of the other partners.
(Agent, Employee, Creditor)
1v) type of agreement is used to form a Partnership firm.
(Written, Oral, Both)

v)  There must be at least parties to the contract of sale of
Goods.

(One, Two, Three)
vi) The arbitrator can appoint

(An Expert, A member, An Agent)

PT.O.



B) Match the following [5]

Group A Group B
1)  Indian Contract Act a) 01 October 1932
i1) Limited Liability Partnership b) 01 April 2009
iii)) Indian Partnership Act c) 0l September 1872
1v) Sale of Goods Act d) 01 July 1930

v) Arbitration and conciliation Act e) 22 August 1996

02) Define 'Contract' Explain Essential elements of the Valid Contract.  [15]

03) What is Dissolution of Partnership? Explain the modes of dissolution
(methods). [15]

Q4) Define the term 'Sale' & 'Agreement to sale of Goods'. Distinguish between

Sale & Agreement to sale of goods. [15]
05) What is Arbitration? Explain Powers & Duties of Arbitrator. [15]
06) Write Short Notes (Any Three) [15]

a) Conciliation Process
b) Capacities of Parties
¢) Kinds of Goods
d) Advantages of LLP
e) Undue Influence
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352: ADVANCEDACCOUNTING- |
(2019 Pattern) (Semester - V)

Time: 3Hours] [Max. Marks: 70
Instructions to the candidates:

1) Qliscompulsory.

2) Sovieany 2 Questions from remaining Q. No. 2, 3 and 4.

Q1) A) Fillintheblanks(Any fiveout of 7). [9]
d When new shares are being issued account is credited.
)  SharePremium i)  ShareCapital
i) Sharereduction Iv) Shareinvestment
b) Ex-interest basis means the purchase price of securities
interest.
) rolls i) excludes
i) takeover Iv) outstanding
c) AS3deaswith
)  Construction Contracts i)  Disclosures
i)  Cashflow Statement Iv) EmployeeBenefits
d) Internal Reconstruction means that the scheme will be carried out
by means of of capital.
) issue i) rise
i) increase IvV) reduction
e) Converting shareof smaller denomination into larger denominations
is called
)  Surrender i) Facevalue
i)  Consolidation IvV) Marketvaue
f) Capital Reserve is written in schedule number as per
Banking Company Accounts.
) 2 i)y |
i) 3 iv) 5
g) Brokerage is added to the price.
) sde i)  income
i)  expense IV) purchase

PT.O.



B) Trueor False (Any five out of 7).

a Investment account isareal account.

[5]

b) Equity shares arelong-term financing sources for any company.

c) Debentures are commonly known as preferred stocks.

d) Securities can be purchased at par, premium and at discount.
€) Fixed Assetsinclude Stock.
f)  The commission paid to the broker is known as Brokerage.
g) Bonus shares areissued to creditors only.

C) Matchthefollowing.
a8 Cost of bonus share
b) Rent paid

c) Financia accounting statements
d) Voluntary return of shares
€) Money at call and short notice

D) Short Notes (Any three out of six)

a Introduction to IFRS
b) Capital Restructuring

c) Classficationof Investments

d) IntroductiontoAS- 3

€) Introduction of Banking Company
f)  Carrying cost of Investment

Schedule no. 7
Statutory audit

[5]

Surrender of shares

Schedule no. 16

Nil

[15]

Q2) Thefollowing isthe Balance Sheet of Citco Ltd. ason 31 March 2021.[ 20]

Balance Sheet as on 31 March 2021

Liabilities Amt |Assets Amt
Share Capital 2000, 5% Goodwill 15,000
Cumulative Preference 2,00,000 |Freehold Property |2,00,000
Shares of Rs. 100 each Pant & Machinery |3,00,000
4000 Equity shares of Rs. 100 each| 4,00,000 |Stock 50,000
6% Mortgage Debenture 1,00,000 |Debtors 40,000
Bank overdraft 50,000 |Profit & Loss 2,40,000
Creditors 1,00,000 |Cash at bank 5,000
Tota 8,50,000 |Total 8,50,000

[5801]-502
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The following scheme of reconstruction was duly approved by the court

ad 5 % Cumulative Preference Shares to be reduced to Rs.75 per share
fully paid up and Equity Sharesto Rs.40 fully paid-up

b) Debenture holders took over the Stock in trade and the Book debts in
full satisfaction of the amount due to them

c) The Goodwill Account to be eliminated

d) The Freehold Property to be increased by 30 %

e) Thevalue of Plant and Machinery to be depreciated by 33% %.

f)  The expenses of Reconstruction amounted to Rs. 3000

Passjournal entriesto record the above scheme of reconstruction in the books
of Citco Ltd. and arevised Balance Sheet as on 3| March 2021.

Q3) Thefollowing isthetrial balance of Dhanvikas Bank Ltd., Dharangaon as on

31 March 2022. [20]
Particulars Debit Credit
Subscribed Capital: 50,000 equity

shares of Rs. 10 each fully paid 5,00,000
Reserve fund 2,50,000
Loans, Cash Credits and Overdrafts 2,85,000

Premises 50,000

India Govt. Securities 4, 00,000

Current deposits 1,00,000
Fixed deposits 1,25,000
Savings Bank Deposits 1,50,000
Saaries 28,000

General expenses 27,400

Rent, Rates and taxes 2,300

Directors fees 1,800

Profit and loss account as on 1% April 2021 16,000
Interest and discount 1,28,000
Stock of Stationery 8,500

Bills purchased and discounted 46,000

Interim dividend paid 17,000

Recurring deposits 20,000
Shares 1,50,000

Cash in hand and with RBI 1,93,000

Money at call and Short notice 80,000

Total 12,89,000 12,89,000

[5801]-502 3



Thefollowing information should be considered:

ad Provision for bad and doubtful debts is required to be made at
Rs. 5,000

b) Interest accrued on investment was Rs. 8.000

c) Unexpired discount (rebate on bills discounted) amounted to 380

d) Interimdividend declared was 4% actual

e) Endorsements made on behalf of customers totaled Rs. 1,15,000

f)  Authorised capital was 80,000 Equity shares of 10 each

g) Rs. 10,000 were added to Premises during the year, Depreciation @ 5%
on the opening balanceisrequired

h)  Market value of Indian Govt. securities was 3,90,000

Prepare Profit and Loss account for the year ending 31% March 2022 and

Balance Sheet as at that date in the prescribed form.

Q4) On 1% January 2019, ITC Finance Co. Ltd. bought Rs. 4,000 6 % Government
Bonds at 90, the cheque of Rs. 3,680 paid being Rs. 3,600 for the securities
and Rs.80 for the brokerage charges. Interest is receivable each year on 30"
June and 31% December.

On 1% February 2019, Rs. 1,000 nominal value of securities is sold
cum-interest the net proceeds being Rs. 950. On 1% June 2019, Rs. 2,000
nominal value of securitiessold Ex-interest net proceeds after brokerage being
Rs. 1710.

On 1% February 2020, Rs. 5,000 nominal value of securities bought
cum-interest cost including brokerage being Rs. 4370. On 1% June 2020,
Rs. 1,000 nominal value of securities bought Ex-interest cost including
brokerage being Rs. 9I0.

Write Investment account for the years 2019 and 2020. [20]
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Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

1)
2)

01) A)

Q. No. 1 & Q. No. 6 are compulsory.
Solveany 3 (Three) questionsfromtheremaining 2, 3, 4 and 5.

Fill in the blanks. (Attempt any 5 out of 6) [9]

i)

ii)

iii)

1v)

_1s the reduction of transaction cost of trans-border
movements of capital and goods.

a) Globalization b) Liberalization
c) Privatization d) Demonetization

Micro, small and Medium Enterprises Act enacted in the year

a) 2000 b) 2006
¢ 2010 d) 2014

To create India as a world class manufacturing hub for the industry
is the objective of

a) Make in India b) Startup India

c) GST d) Skill India

schemes aim is 'job seeker will be job provider'.
a) eNAM b) PM kisan
c¢) Startup India d) PM ASHA

New Industrial Policy of India is announced by
a) Reserve Bank of India

b) Government of India

c) NITI Ayog

d) Competition Commission of India

PT.O.



vi) ____is the buying and selling of goods and services, or
the transmitting of funds or data, over an electronic network.

a) E-Network b) E-Business
¢) E-Commerce d) E-Gateway
B) Match the following : [9]
I II
a) Indian Economy 1)  Developing Economy
b) New Farm Act i) 1991
c¢) New Industrial Policy i) 2020
d) Make in India iv) 2014
e) ONGC v) Public Sector Enterprises

Q2) Discuss the characteristics of the Indian Economy as a developing / emerging
economy. [15]

03) Explain the causes of low productivity of Indian Agriculture. State the
measures of its improvement. [15]

04) Explain the New Industrial Policy 1991. [15]
05) Discuss the role of Infrastructure in economic development of India. [15]

06) Write short notes on : (Any Three) [15]
a) Economic Development
b) Organic Farming
c) Role of Micro, Small and Medium Enterprises
d) Make in India
e) E-Commerce

ooo
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I nstructions to the candidates:
All questions are compulsory.
Figures to the right indicate full marks.

1)
2)

Ql) A)

Fill intheblanks (Any Five) : [9]

)

i

Leontief Paradox is an empirical testing of theory.

a Heckscher ohlin

b) Absolute cost advantage

c) Comparative cost advantage

d) Opportunity cost

According to the Hecksher - ohlin theory, A country with abundant

capital should export intensive goods.
a Caita b) Labour
c) Capita & Labour d) Technology

Quantitative import restrictions that limit the quantity of a product
being imported is called

a Quota b) Tariff

c) TradeRestraint d) Tradelimit

A sets anumerical limit on how much of a product can be
Imported into a country.

a Quota b) Tariff

Cc) Subsidy d) Limit

Is called dumping.
a Expensive goodsselling for low price
b) Reducingtariffs
C) Increasingtariffs
d) Fixing Quota

PT.O.



vi) The terms of trade measure

a) Exports pricess compared to import prices

b) Theincome of one country compared to other

c) The GDP of one country compared to another

d) The quantity of exports of one country compared to another

B) Matchthefollowing: [9]
A Group B Group

) International trade a Tariffs and Quotas

i)  Factor endowment theory b) Adam Smith

i)  Protection Policy c) Heckscher - Ohlin

IV) Income terms of trade d) Trade between countries

v) Absolute cost advantage e) G S. Dorrance
Q2) Explaintheroleof international trade in economic development. [15]
Q3) Ciritically examinethe comparative cost advantage theory. [15]
Q4) Explain the argumentsin favour of a protected trade policy. [15]
Q5) Explain the types of terms of trade. [15]
Q6) Short Notes (Any three) : [15]

a)
b)
c)
d)

€)

Concept of dumping

Importance of terms of trade
Concept of free trade

Scope of international economics

Income terms of trade
PP P
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(2019 Pattern) (CBCYS)

Time: 2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.
2) Figures to the right side indicate full marks.

Q1) @ Fillintheblanks. [5]
) is critical examination of the transactions recorded in
the books of accounts.
A) Auditing B) Accountancy
C) Book Keeping D) Costing
i)  The chartered Accountant Act was passed in
A) 1948 B) 1949
C) 1950 D) 1951
iii) Audit planning
A) AAS-5 B) AAS-6
C) AAS-7 D) AAS-8

Iv) Thefirst Auditor of acompany shall be appointed -

A) U/S221(5) B) U/S222(5)
C) UIS223(5) D) U/S224(5)
V) __ isacheck designed to detect errors in data transfer.
A) Echo Check B) Parity Check
C) Dua Read D) ReadAfter Write

P.T.O.



b)

Match the pairs:

)  MAOCARO A)
i) Existence B)
i) Casual vacancies C)
Iv) TaxAudit D)
v)  White Box Approach E)

Q2) Write short notes (any 2 out of 3) :

a)
b)

C)

Vauation
Audit Certificates

A Removal of Auditor

[5]
EDPAuditing
Form No. 3CB
U/S 224 (6)
Verification of Assets
1988

[10]

Q3) Answer the following questionsin 500 words: [Any 3 out of 4] [30]

a)
b)
c)
d)

Explain the various classes of Audit.

Define Audit Report. What are its contents?

Explain the rights and duties of company Auditor.

Explain the Computer Assisted Audit Techniques.

FooiSoie
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355A : BUSINESS ADMINISTRATION - 11
Human Resource Management & Marketing

Time: 2Hoursg|
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[Max. Marks: 50

I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fill in the blank with the most appropriate alternative (Any Five) [5]
HRM is an art of

1)

1)

iii)

1v)

a)
b)
c)
d)

Preparation of a task

Coordinating middle level Management.
Helping top level Management
Managing people

Human Resource Management is the process of

a)
b)
C)
d)

Recruitment and Selection
Analysing the skills
Manpower utilization.
None of the above

can be defined as process of choosing the right person

for the right job.

a) Selection b) Recruitment

¢) Incorporation d) Orientation
Promotion is a/an source of Recruitment.
a) Suitable b) Only one

c¢) Internal d) External

PT.O.



v) Training courses typically designed for
a) Short term b) Long term
¢) Medium term d) All of these

vi) Successful defenders use performance appraisal for identifying

a) Staffing needs b) Job behaviour
¢) Training needs d) None of the above
B) Match the following [5]
Column A Column B
1)  Planning a) Corrective action taking
i1) Organizing b) Directly related to human
beings
1i1) Staffing c) Right people at right jobs
iv) Directing d) Identifying and grouping the
work to be performed
v) Controlling e) Bridge the gap between where
we are now and where we want
to go
02) Write a short note (Any two) [10]
a) Steps in Human Resource Planning.
b) Types of Interviews.
c) Objectives of Training.
d) Benefits of performance Appraisal.
03) a) Distinguish between Human Resource Management and Human
Resource Development. [8]
b) Define Selection. Explain importance of selection procedure. [7]
04) a) Define Career Development. Explain steps in Career Development.[§]
b) Explain the ranking method of Performance Appraisal. [7]

Ooon
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BANKING AND FINANCE (Special Paper - I1)

Financial Market and Institutionsin India - |

(2019 Pattern) (CBCS) (355B)

[Max. Marks: 50

I nstructions to the candidates:
All question are compulsory.
Figures to the right side indicate full marks.

1)
2)

Q1) a)

Fill in the blanks (Any Five) : [5]

1)

ii)

iii)

1v)

Vi)

Which of the following is not a regulatory institution in Indian
financial system?

a) RBI b) SEBI

c) IRDA d) CIBIL
Which is the largest commercial Bank in India?
a) Bank of India b) Axis Bank

c¢) State Bank of India d) HDFC Bank

When was the money market mutul fund established?

a) 1988 b) 1992

c) 1990 d) 1969

Identify the unorganized components of the Indian Money Market.
a) Commercial Banks b) Co-operative Banks

¢)  Unit Trust of India d) Money Lenders

Which of the following is the Regulator of the capital market?

a) RBI b) SEBI

c) IRDA d) NSE

What is full form of FOREX?

a) Foreign Exemption b) Foreign Exchange
c¢) Foreign Expert d) Foreign Expansion

PT.O.



b) Match the following :
1)  Regulatory Institution
i1) Financial Intermediatries
1i1) Call Money
iv) Equity Shares
v) Foreign Exchange Market

Q2) Write short notes (Any Two) :
a) Financial Institutions
b) Indian Money Market
c) Bombay Stock Exchange (BSE)
d) Foreign Exchange Market

03) a) Explain the role of Financial system in Economic Development.

Capital Market
Money Market
SEBI

Transfer of Currency

Cooperative Banks

b) Explain the functions of Indian Money Market.

04) a) Explain the functions of Indian Capital Market.

b) Explain the participants of Foreign Exchange Market.

e
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P2958 [5801]-507
T.Y. B.Com. (Semester - V)

=ik =aEr™ AUt fogRaet (FvTe oW - 1)
VAT fo=ia SR snfor gwer - |
(2019 Pattern) (CBCS) (355B)
(TSt TATR)
de ;2 ad | [ Tegor 7707 : 50
1) e av el JavEs IR,

2) SRS 3ok TeAE qUl U1 vt
3) wewWiErdt ge Sush weA ubren ugrel.

g 1) 1) fwmn S 90 (SR ) [5]
i)  UEIcTueht ShIUTA TEAT WA foRia JUTTCHdIe! (HamTeh TET AT,
3)  HRNALIE. ) el
F) FAAIARIT. g) fuf=
i) YRATHS Tt TSt SN Sk T ?
) o 3N e ) Sifeod d®
) WA e ok T) wI.UwH.Th
iii) - TOTETER e fefht wemuAn weft gaen ?

) 1988 ) 1992
%) 1990 g) 1969
iv) OSSR FEEfed geeh 3o,
HA) AU R q) HEHN St

%) FgesrAwIkA T) wEER
V) Teicidehl Wigael STARTAe Fames ST Siurd ?

) AR q) T
W) IHE.IMET, g) TA.UEE.
vi) FOREX (®Re®) o YUl §9 1 318 ?
A)  ERA TEFREIH T)  ERA e
®) WRA T T) WRA THUIH

3 P.T.O.



F) S Jeeat [5]
i) frames gwen )  WETAER
i) friaasa ¥) TIeHENR
iii) WU TeRRT ®) et
iv) @ am ) e g
V) WA IR 3) HHW dh
gy 2) feun forgn (ot @) - [10]
31) forda Twen
) YR TSR
%) Hag 9r awR (BSE)
g) Wi g sm
yyr 3) ) oMk ek foxie yuTette QiR g W [8]
F) HRAE TSR 6 T8 . [7]
9T 4) ) R WISTAETIRTE il T . [8]
d) W ISR GgHTT 92 T8 &, [7]
363836
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Total No. of Questions : 4] SEAT No. :

P2959 [Total No. of Pages : 4
[5801]-508
T.Y. B.Com. (Semester - V)
BUSINESS LAW & PRACTICES - |1
(2019 Pattern) (CBCS) (355 C)

Time: 2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) a) Fill in the blank with the most appropriate alternative (any Five) : [5]

1) address the relationship between and among “Employers,
Employees and Labour Organizations.”

(Labour Laws, Indian Constitution, Labour empowerment)

11) As per section 2 in factories act, a person who has
completed years of age will be called as an adult.

(18, 14, 21)
111) The Factories Act, 1948 came into force on

(1** March 1949, 1% April 1949, 1 May 1949)

n

" means a condition which requires medical treatment
and attendance and necessitates abstention from work on medical
grounds.

1v)

(Healthy, Sickness, Disease)

v) Contribution of Provident Fund paid by the employer and
employees is

(8%, 10%, 12%)

vi) The chairman and members of Central Board constituted under
Employees Provident Fund are appointed by

(The State Government, The Central Government, The State &
Central Government)

PT.O.



b)

Match the following : [5]
Column A Column B

1)  Section 2(i-b) of EPF Act, 1952 a) Section 18(The Factories
Act, 1948)

1) Safety of Workers b) Medical Benefit Council

1i1) Arrangements for Drinking Water ¢)  Insurance Scheme

iv) Employees State Insurance Act d) Government Provident

Fund
v) Statutory Provident Fund e) Fencing of machinery
02) Write a short notes (Any Two) : [10]
a) Evolution of labour laws of India
b) Provisions of Safety of Worker’s (The Factories Act, 1948)
c) ‘Benefits’ under The Employees State Insurance Act, 1948
d) Employees Provident Fund Scheme
03) a) Explain the main regulations relating to Labour Policy of India. [8]
b) Explain the provisions regarding Worker’s Health as per Factories
Act, 1948. [7]
Q4) a) Explain the manner of calculation and payment of contributions as per
The Employees State Insurance Act, 1948. [8]
b) State the Objectives of Employees Provident Fund & Miscellaneous

Provision Act, 1952. [7]

F6d836
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Total No. of Questions: 4]

P2959 [5801]-508
T.Y. B.Com. (Semester - V)
BUSINESS LAW & PRACTICES- I
(2019 Pattern) (CBCS) (355 C)
(WSt TUTaR)
de ;2 ad | [ Tepor 7707 : 50
1) @& ue fEd g,

2) STEHEA 37k I YT T[T EifaTd.
3) wewtard! 4w sush g ufen ugE.

g7 1) @) fewmen AWM W (HIVTETE UT) [5]
D) e HTeTeh, SHH 3TTTUT ShITRTR TeeA1 AT GelerTn Seiferd

(PR FTae, WRAR™ G, SR |eriehuT)

i) HREMT HEE HEW 2 TAR, T TROE T ..o qut 31, 39
ehicT Ste TgU Halee STEe.

(18, 14, 21)

(1w 1949, 1 wie 1949, 1 7 1949)

V) “rn " rguTS 19Tt Teoret SaTETdt SR SURIR 9 SUfeRrt ot
Jerehia HROTETE HIETAR G TEU STETTH L.

(FRrft, sy, T9T)
V) HIehR MU hHORl Areatehgd ie SR wigsHaig [ anem

(TST TIHR, hg TR, TSH AT chg FIHR)

3 P.T.O.



) AT S e [3]
Tl A TR o
i) SO Uk &RE, 1952 A HeM 31) e 18 (KRG SR,
2(3ma.st.) 1948)
i) SRTRTRI e F) JETHRE TN NG
iii) foroamean uroaT=h e &) o e
iv) v T o s T) W wWiersaHarg fFeft
v) Frame whreafate f 3) TS Hau
Ty 2)  eirswm e fore (v 3e) [10]
) URATHA HITTR BRI Ieshicl
F) RN FRAFTEA ade (FREH wEET, 1948)
®) wHE U o e, 1948 = wEe
7) wHHAW wiesafratg feft @
yy7 3) ) HRATSH IR SRUTIH HaEfea g Faw g . [8]
F) HREE FEE, 1948 TAR HREFIHA SRR TR awdgal
WE . [7]
T 4) ) wHEAN UF fomn e, 1948 TAR ANTEHTRIt UM 0T SR Ugd T
. [8]
F) wHAN wiastarg Rt enfor fafay wad siefem 1952 < sfkeeawas wu.

[5801]-508
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P2960 [Total No. of Pages : 4
[5801]-509

T.Y. B.Com. (Semester - V)
CO-OPERATION AND RURAL DEVELOPMENT - 11
(CBCYS) (2019 Pattern) (Special Paper - 1) (355(D))

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blanks (Any Five) : [S]
1) is the father of modern marketing.
a) Peter Drucker
b) Philip Kotler
c¢) Henry Feyol
i1) Marketing is an
a) Art
b) Science
c) Arts & Science
1i1) Primary societies are formed at level.

a) District

b) State
c) Village
iv) Cotton co-operative societies are society.

a) Agro based
b) Key
¢) Urban

PT.O.



v) NAFED was establised in year.

a) 1958
b) 1908
c) 1918

vi) Consumers co-operatives are working for
a) Peoples
b) Government

c¢) Consumers

B) Match the following : [5]
A B!

1)  Maharashtra State Society a) Economic Growth

11)  Agriculture Export b) Run by consumers

1i1) Co-operative Stores c) State level society

iv) Fisheries Society d) Village level

v) Local Market e) Increase fishery production
02) Write short notes (Any two) : [10]

a) Elements of Marketing
b) Progress of Primary Co-operatives
c) Problems of Sugar-Co-operatives

d) Objectives of Co-operative federation.

03) a) Explain the recent Trends in Co-operative Marketing. [8]
b) State the functions of District Co-operatives. [7]

Q4) a) State the functions of National Co-operative consumers federations.[8]

b) State the problems of cotton processing societies. [7]

ofo ofo ofo
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P2960 [5801]-509
T.Y. B.Com. (Semester - V)
H|ghR 3T T foremme - ||
(CBCYS) (2019 Pattern) (Special Paper - 11) (355(D))
(TSt ®UTR)
ae ; 2Y; arE] [ BT 7707 : 50

gaar: 1) @ 999 Gisfavt sTavas s,
2) 3Bl 37k TyIE guUt 7T Fvitaara.

g 1) 1) fwmen Smn W@ (ST ) [5]
1) I 2 onyfes fauumm e orea.

iii) et FEEe TAER TATYA graTd.
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V)  ATRE SR ... et e,

Vi) UTEgeh HgehT T ........... IS A AT,

q) e S Jesdl.

-
) TEWE S S ) onfdw FLE

i) wivwe Fam 9)  UTgeh ATeAterda
iii) GEHRM WER ®) TSI MR
iv) WU QR ) TEUTdeieRict T
V) e SR 3) ACESHEA 916

g7 2) few feran. (vl 3F)
) e gew
q)  WATHE ARl TEATN W
®) HEHN ARG R T

g) Hgwr wur 3gieel

v 3) ) ugHN fauuEre sielthdtal TaTg T o

) og g e % 9.

v 4) 1) U OgErl UTgeh HOTe el n.
q)  ga Ufshan SRS SEET |,

L X X )
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P6475 [5801] - 510 [Total No. of Pages : 3

T.Y. B.Com.
355-E: COSTAND WORKS ACCOUNTING-1I
(Semester - V) (2019 CBCS Pattern)

Time : 2% Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right side indicate full marks.

Q1) A) Fillin the blanks (Any 5 out of 6) [5]
1)  Normal Bad debts is an example of overheads.
a) purchase b) selling
c) prime d) income

i) The Cost Accounting Standards Board develops
a) Cost accounting standards
b) Financial accounting standards
c) Reporting standards
d) Recording standards

i) Overheads are absorbed on the basis of absorption

a) rules b) policy
c) rates d) procedure
iv) In activity based costing system, cost 1s like a cost centre.
a) unit b) centre
c) pool d) driver
v)  Asper CAS-15 overheads comprises selling overheads
and distribution overheads.
a) Purchase b)  production
c) banking d) marketing
Vi) overheads vary with the volume of output.
a) Variable b) Fixed
c) Rigid d) Flexible

PTO.



B) Match the following.

) CAS-11

i) CAS-3

i) Service Cost

iv) Research costs
v) Fixed overheads

02) Short Notes (Any Two out of Four)
a) Cost Accounting Standards.

b) Activity Based Costing
c) Overheads and Types.

d) Absorption of overheads

Improved products
Providing a service
Production and
Operations overheads
unaffected by variations
Administrative overheads

[S]

[10]

03) In I Ltd there are two Production Departments viz A and B and two Service

Departments C and D. C department provides services to A and B in the ratio

of 2:3 and D provides services to A and B in the ratio of 6:1 [15]

The other details as regards to the expenses and other charges for the period

ended 31% March 2021 are as follows

Particulars Amt.

Rent Rates and Taxes 40,000

Insurance 15,000

Electricity 5,000

Motive Power 20,000

Depreciation 2,00,000

Amenities to Staff 13,000

Additional Information
Particulars Production [departments | Service departments

“A” “B” “C» “D”

Assets value Rs. 10,00,000| 5,00,000 4,00,000[ 1,00,000
Floor Area sq.ft. 8000 6000 4000 2000
Number of Light Points Numbers | 40 30 15 15
H.P.of machines H.P. 800 500 400 300
Number of workers Numbers | 75 50 50 25
Direct wages Rs. 2200 1400 1000 875

You required to prepare a statement showing distribution of overheads costs
and also find overhead costs of each department.

[5801] - 510

2



04) Cisco Ltd. has installed a Historical Costing System and follows the practise
to absorb overheads on the basis of pre-determined rate. The following
particulars are made available relating to the financial year ended on 31% March

2021. [15]
Particulars Rs.

Stock of Work-In-Progress 40,000

Factory overheads absorbed 84,740

Stock of Finished Goods 1,20,000

Actual Factory Overheads 1,09,740

Cost of Goods Sold 2,40,000

Determine unabsorbed overheads and indicate clearly the profit implications
of different methods of disposal of underabsorbed overheads.

[5801] - 510 3
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P2961 [Total No. of Pages : 3
[5801]-511

T.Y. B.Com.
355(F) - BUSINESS STATISTICS - |
(CBCYS) (2019 Pattern) (Semester - V)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

Q1) Attempt each of the following : [1 each]
a) Fill in the blanks (Any 5) :

1)  Number of distinct ways of arranging 5 persons for a photograph
in a row is -

11) A die 1s tossed twice and outcomes are noted then the total number

of elements in the sample space is

) 1 ..
iii) If A is any event on Q such that P(A):Z then conditional

probability of A given A i.e P(A|A) is

iv) The p.m.f. of a discrete random variable X is given by

X -1 0 1

P(X=x) | 0.30 0.4 0.30

then expected value of X is
v) Let X follows Bernoulli (p = 0.4) then Variance of X is
vi) Let X follows Poisson (m = 2.4) then value of P(X = 0) is

vii) Reorder level = Minimum level +

PT.O.



b) State whether following statement is true or false : [1 each]
1)  Poisson distribution is used in a case of rare events.
ii) If events A and B are independent then P (A|B) = P(A).
1i1) A discrete random variable takes uncountably infinite values.

iv) Order of the arrangement is important in case of combination of r
units from n.

v)  Set up cost is the cost incurred each time an order is placed.

Q2) Write a short note on the following (Any two) : [S each]
a) Assumptions of EOQ model when shortages are allowed.
b) Classical and axiomatic definition of probability.
c) Discrete random variable.

d) Bernoulli trials and its relationship with binomial trials.

03) a) Attempt the following :

1) Let (X, Y) denotes the bivariate discrete random variables with

joint p.m.f given by [4]
Y>> -1 0 -1
X4
1 IER
- 12 12 12
1 30 2] 1
12 12 12
Find Marginal distribution of X and hence E(X)
ii) Define the following : (4]

I) Sample Space
II) Simultaneous occurrence of events
IIT) Complement of an Event.
IV) Occurrence of at least one of the events
b) 1) Define Economic order quantity and Reorder level. [4]

i1) State Bayes Theorem. [3]

[5801]-511 2



04) a)

1)

ii)

Attempt the following

How many distinct numbers can be formed by using digits 0, 1,
2, 3,4, 5, 6 between 3000 and 5000 if each digit must not be
repeated in any number? [4]

Let (X, Y) denotes the bivariate discrete random variables with

b) i)

ii)

[5801]-511

joint p.m.f given by [4]
Yo 1 2
X
1 0.1 0.2
2 0.3 0.4
Check whether X and Y are independent?
The p.m.f. of a discrete random variable X is given by [4]
X -1 0 1
P(X=x) 0.25 0.5 0.25
Find variance of X.
State additive property of Poisson distribution. [3]

ofo ofo ofo
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P2962 [Total No. of Pages: 4
[5801]-512

T.Y. B.Com. (Semester - V)
BUSINESS ENTREPRENEURSHIP - Il (355 (Q))
(2019 Pattern)

Time: 2Hourg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figurestotheright indicate full marks.

Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [5]

1)  The Self-Reliance India campaign was announced on
by Hon'ble Primeminister Narendra Modi.

a) 12 April 2020
b) 12 May 2020
¢) 12 June 2020

i1) Investment in Micro Industry should not be upto crore
or more.

a) Three
b) Two
c¢) One

ii1) The entrepreneurship development program is a week
management development program.

a) Five
b) Three
c) One

iv) MSME is known as _
a) DIC Registration Portal

b) Udyam Registration Portal

c¢) Entrepreneurship Registration Portal.

PT.O.



v) There will be a discount on the MSME trademark

registration fee.

a) 60%
b) 40%
c) 50%
vi) The next 'M' is not used in 3 m's.
a) Money
b) Material

¢) Manpower

B) Match the following [5]
1) Small Production sector a) Lack of skilled
manpower
11)  Small service sector b) Effective ideas
ii1)) MSME challange c) 10 Lakhs to 2 crore
iv) MSME service d) Promotion of small scale
Industries
v) SIDO e) 25 Lakhs to 5 crore
02) Write short notes (Any Two out of Four) [10]
a) Classification of Enterprises as MSME
b) Characteristics of business opportunity
c) Break even Analysis
d) KVIC
03) a) Explain impact of covid-19 on MSME. [8]
b) Explain the registration procedure under MSME. [7]
04) a) What is project Appraisal. Explain the factors of project Appraisal.[§]
b) Functions of Commercial Bank-Explain. [7]
o0on0
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T.Y. B.Com. (Semester - V)
BUSINESS ENTREPRENEURSHIP - 11 (355 (Q))
(2019 Pattern)

(TSt TUTaR)
de ;2 ad] [ BT 7707+ 50

gear: 1) G gvT it sifAard o1
2) IR 37k IYATA GUT T[0T gIferara.

g7 1) 1) T @mnm W, (Sl ) [5]
) TR AR AR SO ... A AT Tasen R_g

A) 12 folﬁ 2020
) 12 %2020
) 12 53 2020

iii) ScisteRdl o HRIsHATERTG e o SR g ..,
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vi) F TH 9 giedt TR =1 SUSRT g .
3) @ (Money)
¥) e (Material)
%) u"IEE® (Man power)

) = [S]
i) oY I e ) I AL AN
i) g o e q)  TUTE Heut
iii) UHUH A g A &%) 10 &g q 2 =i
iv) wHTE g T) Y AN T
V) UE ™. 9. e 3) 25 d 5w
gyq 2) fomn forgn (hored S) [10]
) TUH TH UH § IUSHATA Siiehiul
q) HaeE ad aiea
*) Tu-8e e
T) W g UHIGNT HEeb
gy7 3) 1) TUATH UM T R hifgs—19 =1 q9E WE . [8]
d) UH UH UA T A AQui Uishan TE &, [7]
gy 4)  3A) ehed Ui TgUTS hid ? Yehed odHIIATY Ueeh T8 ol [8]
q) HAUN SRt HE WY F. [7]
00
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P647 Total No. of Pages : 4
6 6 (5801]-513 [Total No. of Pages

T.Y. B.Com.
355H : MARKETING MANAGEMENT -11
(CBCS 2019 Pattern) (Semester - V)

Time : 2% Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory

2) Figures to the right indicate full marks.

Q1) Fill in the blanks with most appropriate word in the bracket. (Any five) [5]

a) is a type of Demand which does not meet the consumer’s
expectation.

(Negative Demand, Latent Demand, Irregular Demand, Full Demand)
b) Non-Profit organization prepares

(Income & Expenditure Account, Profit & Loss Account, Trading
Account, None)

c) Organizational structure based on marketing work 1is
marketing organization.

(Customer oriented, Functional, Geographical, Professional)

d) is a core benefit which consumers expect.
(Marketing, Quality, Creditability, Quantity)
e) 1s willingness to buy back by capacity.
(Demand, Goods, Service, Price)
f) organization work for betterment of humanity without hope

of reward in form of monetary and non-monetary form.
(Profit making, Trading organization, Non-profit, All of these)

(02) Match the following: [5]

Group ‘A’ Group ‘B’

a) Quantitative method of Sales 1)  Profitis not the Primary
forecasting Goal

b) Non-Profit Organization i)  Functional Organization

c) Marketing Organization i)  Name of company’s Product

d) Brand 1v)  Sales goal

e) Sales Quota v)  Time series

PT.O.



Q3) Write a short notes on (Any two) [10]

a)
b)
c)
d)

04) a)
b)

05) a)
b)

Sales Quota.
Objectives of Non-Profit Organization.

Changing role of Marketing & Marketers.

Brand positioning.

Explain the types of Demands in Marketing. [8]
What is Non-Profit Organization? Explain the different features of
Non-profit organization. [7]
What are the different types of Marketing Organisations? [8]
Explain the importance of Building a Brand Strategy. [7]

363836
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T.Y. B.Com.
355H : MARKETING MANAGEMENT - 11
(CBCS 2019 Pattern) (Semester - V)

(TS EUTR)
qB : 2 AE] [ T O 50

gEi:— 1) 6E I A SR,
2) SO ARSI 3k TUT YIS,

¥.1) FETdiel I uaie Haga Rerman S @, (RivrdE ar) [5]

) e HITUR UTgehi=al STUST YUI o ITehd ATET.
(FERRTCHSR WRTUT, W ARTON, S=tHa WRToT, qui JrTt)
9) fmawmEwn........... TIR AT,

&) fouum SwEteR nenfia e ®E R . ferqum Tue 2.
(ITgmiSTTE, ST, HRTifeTeh, STEHIRGE)

T) e, F1 H&A TIIET AT ST UTgehi-T STUeT 3.
(oo, TquTar, favardTEan, ST

(A Tiresat, SAUR FeeAT, A1-A%, gl ad)

4.2) Siresn . [5]
AN T
H) EEES R SAE ugd iy T R g age 2w AR
q) o= o ween i) HTcHeR Tl
&%) feguE Ewen iil) U T A
g) T iv) fech 2=
7) ek = V) 9 HifereRt



¥.3) & forgt. (Rorad a)
) Tkt @i
q)  fomn o wwen=h st
%) fouum 3 fomurrTd seed it
g) et

¥.4) %) fouuArde armfie TER w0 w0

T) o o Ten o w7 e T weoeh fafae afvres we .

¥.5)3) fouum e fafay ger @ .
T) forgrea RGN qEa T .
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[5801]-514

T.Y. B.Com. (Semester - V)
3551 : AGRICULTURALAND INDUSTRIAL ECONOMICS-1I
(CBCS 2019 Pattern)

Time: 2Hourg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [9]
1)  The major problem of agricultural Marketing in India is

(Low agricultural productivity, uncertainty in moonson, price
fluctuations, non-availability of seeds)

i1) The recommends minimum support prices for agricultural
produce.

(NABARD, Ministry of agriculture & farmers welfare, NITI Ayog,
commission for agricultural costs & prices)

1i1) i1s not a agro-based industry.

(cotton industry, sugar industry, dairy product industry, steel
Industry)

iv) The model APLM act was passed in
(2014, 2017, 2011, 2018)
v) The e-NAM is
(online agricultural marketing platform, online money transfer

facility, online trading system for shares, online food processing
platform)

PT.O.



vi) The main problem of public sector enterprises in India is

(high capital formation, low productivity of labour, lack of raw
material, lack of competition)

B) Match the following [9]
1)  Government owned industry a) Agricultural Marketing
certification
11) Ag mark b) Jute industry
iii)) Agro processing industry c) Problem of Agricultural
Marketing
iv) Lack of storage facility d) Sugar Industry
v) Agro industry e) Public enterprises
02) Write a short note (Any 2 out of 4) [10]
a) Agricultural Marketing in India
b) Importance of agricultural processing
¢) Food retail marketing system in India
d) Government policies towards public sector
03) a) Explain the problems of agricultural marketing. [8]
b) Describe the role of public sector in economic development in India.[7]
04) a) Explain the Importance and problem of sugar industry. [8]
b) Describe the recent agricultural marketing policies in India. [7]

u|mim
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(Special Paper - 11)
355J : Defense Budgeting, Finance & Management - ||

(2019 Pattern) (Semester - V)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any fiveof thefollowing. [5x 2 =10]
a) Definedefence.
b) Definesecurity.
c) Definefinance.
d) Statethe meaning of development.
e) Definebudget.
f)  Define defence budget.

Q2) Attempt any four of thefollowing [4 x5 =20]
ad DRDO
b) DPSUS

c) Ministry of defence
d) Department of defence production

e Weapons

PT.O.



Q3) Attempt any four of thefollowing. [4 x5 =20]

a) Explain weapons procurement policiesin Indiasince 1947.
b) Explainbasic aimsand objectives of Defence public sector undertaking.
c) Statetherole of the public sector undertaking in defence.
d) Explainthe political aspects of defence production.
e) State the future prospects of the defence debate.
Q4) Attempt any two of thefollowing. [2 x 10 = 20]
a Explainindetail industrial policy resolution 1947.
b) Statetherole of the department of Defence production.
c) Explain in detail information and role of Defence public sector

undertakings.

QOO0

[5801]-515 2



Total No. of Questions: 4]

P2964
[5801]-515

T.Y.B.Com.
(Special Paper - 11)
355J : Defense Budgeting, Finance & Management - ||
(2019 Pattern) (Semester - V)

(TSt FUTaR)
ae . 2% am] [ @egor 701 : 70
gear ;1) @d gy sifard.

2) ITHIHEIA 37k UT FVIfIAT.

g97l)  Telicidh! SIVAE Ut I |iea. [5x 2=10]
)  ERETUTRI SATEA .
F) RO R .
*)  wRHARE HREAT 1.
) remmamen aret @,
T)  31eiEched SAIEHT .

W) EREUT AT ST L.

gp72) R (HoR =R) [4 % 5= 20]
A) AR M

F) HARTEY

®)  EREIUT WA

) RO ScUTeA fawm
3) v

3 PT.O.



gp73)  Wiciiciieh! STl TR T3 Giea. [4 x5 =20]
31) 1947 o= IERE WA R0 TE .
F) RN ST |-k T oo &3 ST 3fe T .
F) TRV HTa(eh GeTelt sifieet |,
g)  TRETUT SIS T Ue] T8 .

T)  EREIUT ST WiTSATeel el 9.

Ug74)  Eeficidehl hivagl 3 g9 Higa. [2 x 10 = 20]
) 1947 < SR URUT 30 Wi WY .
F) TR ScuTeA favmTED it wfoRR WE %
%) WS Seared fevmreR wiedt & yftre AR T w0

Q000

[5801]-515 4



Total No. of Questions: 4] SEAT No. :

P2965

[Total No. of Pages: 4
[5801]-516

T.Y.B.Com. (Semester - V)

355K : INSURANCE, TRANSPORT & TOURISM -1
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[Max. Marks: 50

I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fill inthe blanks (any 5) [9]
) A person whoserisk isinsured is called
a Insured b) marketer
c) Agents
i) __ isavoluntary termination of the contract by the policy holders.
ad Report b)  Surrender
c) Prospectus
i)  Therisk which arises because of change in major economic, social,
cultural and political factors are
a) Particular Risk b) Fundamental Risk
Cc) SpeculativeRisk
IV) Insuranceis legislated by
a Insurance Company b) Central Government
c) State Government
v) What istherole of the Third Party Administrator?
a) Processinsurance clams
b) Arrangingfor reinsurance
C) Issue documents on behalf of the insurer
vi) Marine Insurance Act come into force from

8 1938 b) 1957
c) 1963

PT.O.



B) Matchthefollowing

Group ‘A’
)  Risksharing a)
i)  Yearly renewableterm b)
i)  Risk avoidance C)

Iv) Management by objectives  d)

v) PublicLiability InsuranceAct €)
1991

f)

9)

Q2) Short Notes (Any 2)

a)
b)
c)
d)

Q3) 8
b)

Q4) &)
b)

[5]
Group ‘B’

one-year termlifeinsurance
Elimination of renewable
cooperating with another party
withtheaim of increasing the
probability of risk
Elimination of hazards
deal swith hazardous substances

Longtermlifeinsurance

process where longer-term
goals are set

[10]
Insurance and Management of risk
Single-Premium Plan
Days of Grace
Concept of consumer under Consumer Protection Act 1986
Explain the Nomination related to theinsurance policy in detail. [8]
State the different types of risksin the insurance policy. [7]
State the different methods of rating. [8]
Givethe provisions of The Insurance LawsAct 2015. [7]

Q000
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355(L) : COMPUTER PROGRAMMINGANDAPPLICATION-11
Computer Networ kingand E-Commer ce- | (Special Paper -11)
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(2019 Pattern) (Semester - V)
[Max. Marks: 50

I nstructions to the candidates:
All questions are compulsory.
Figures to the right indicate marks.

1)
2)

Q1) A.

Fill in the blanks. (Attempt any 5 out of 6) [9]
1) Topology requires a multipoint connection.

a Star b) Mesh

c) Ring d) Bus

i

Data communi cation system spanning status countries or thewhole
world is

8 LAN b) WAN

c) MAN d PAN
FTP Stands for )

ad Fine Transfer Protocol

b) File Transfer Protocol

c) First Transfer Protocol

d) Fast Transfer Protocol

The layer one of the OSl model is

a Physcd layer b) Linklayer

Cc) Routerlayer d) Broad cast layer.
Thefirst line of HTTP request message is

d Requestline b) Headerline

c) Statusline d) Entityline

PT.O.



vi) Bluetooth is the wireless technology for
ad Loca AreaNetwork
b) Personal AreaNetwork
c) Metropolitan AreaNetwork
d) WideAreaNetwork

B. Matchthefollowing: [9]
Listl Listll
I.  Dadinklayer a.  Connection Control
ii.  Transport layer b. Framing
lii.  Mesh c. Hub
iv. Star d. BulkWiring
Q2) Short notes (Any 2 out of 4) [10]
a Radio Transmission.
b) Bluetooth.
c) Port Addressing.
d) Serverbase LAN.
Q3) @ Explain computer Network and Modes of communication. [8]
b) Explainunguided mediawithit’stypes. [7]
Q4) @ Explain Network Interface card (NIC) and functions of NIC in detail.[8]
b) Amazon Case study - Tearing down the whole business - [7]

Amazon runsaplatform businessmodel asacore model with several
business units within some unitslike prime and the advertising business.
Arehighly tied to thee-commerceplatform for instance, primehelp amazon
reward repeat customers, thus enhansing it's plat form business other
units like AWS halped improve Amazons tech Intrastructure. Today
Amazon is a tech gaint who dominated the e-commerce business by
offering awidevariety of product at low cost and with adelivery servicess
proplled by itsinventory management infrastructures buit over the years.

[5801]-517 2



But isAmazon isan extremely complex company which can not beeasily
labeled. How can we called its business model ? Amazon mission statement
IS to serve consumers through online physical stores and focus on
selection, Price and Convenience.

Amazon vision statement is to be Earth’'s most customer centric
company. Where customer can find and discover anything they might
want to buy online and endeavorsto offer, it's customer thelowest possible
pricess.

1)  What isthe main idea of case study?
i)  What isthe problem that you can identify?
i)  What are the possible solutions that you can give?

[5801]-517 3
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356A : BUSINESSADMINISTRATION (Special Paper - 111)

Time: 2Hourg|

Finance

(2019 Pattern) (Semester - V)
[Max. Marks: 50

I nstructions to the candidates:
All gquestions are compulsory.
Figures to the right indicate full marks.

1)
2)

Ql) A)

Multiple Choice Questions (Any 5) [9]

)

ii)

Public deposits are the depositsthat are rised directly from

a Thepublic

b) TheAuditor

c) Theowner

Funds required for purchasing current assets is a example of

a Fixedcapital

b) Working capita
c) Leasefinancing
Cost of capital isa concept in Financial Management.
a Dud
b) Centra
c) Departmental.
refers to makeup of afirms capitalization.

a Capita structure

b) Capital Budgeting
c) Equity shares
Strategic plans are

a) Forecast

b) Budget

c) Longtermplans

PT.O.



vi) Budget is not

a Pan
b) A part of the strategic Management Process
c) A forecast
vii) Is regarded as a queen of Indian Financial System.
a SBI
b) FinanceMinistry
c) R.B.
B) Matchthepair (Any5): [9]
Group A Group B
1) SEBI a Longterm source of finance
2) Equity Shares b) Process of assessing the
Financial goalsof aclient
3) Capitdization c) Credit RatingAgency
4)  Financia Planning d) National Stock Exchange
5 CRISIL €e) Mediumterm & Longterm
funds
6) Capital Market f)  Total amount of Long term
fundsavailableto the company.
7) NSE g) Securities Exchange Board of
India
Q2) Short Notes (Any 2) : [10]
a Stock Exchangein India
b) Importanceof Financial Planning.
c) Principlesof Capital structure.
d) Bank overdraft.
Q3) @ What isthe meaning of Credit Rating Agencies? State the functions of
Credit Rating Agencies. [8]
b) Explainthe methodsof Estimating financial requirements. [7]
Q4) @ Explainvarious sources of capital. [8]
b) Explain meaning of under capitalization. What are the causes of
undercapitalization? [7]

® % %
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356 B : Banking Law and Practicesin India- |

(2019 Pattern) (CBCYS)
[Max. Marks: 50

I nstructions to the candidates:
All questions are compulsory.
Figures to the right side indicate full marks.

1)
2)

Ql) a

Fill inthe Blanks (Attempt any five) [9]
) In year was the Banking Regulation Act passed.
1) 1949 2) 1959
3) 1969
i)  Sec 17 of Banking Regulation Act 1949 deals with
1) Reserve Fund 2) Cash Reserve
3) Audit
i)  The law relating to negotiable instruments is embodied in the Act

Vi)

1) 1884 2) 1881

3) 1880

In promissory note thereis a :

1) promiseto pay 2) order to pay
3) bothl& 2

regulates insolvency professionals.
1) Ministry of corporate affairs
2) Insolvency & Bankruptcy Board of India
3) Nationa company law tribunal

The insolvency and Bankruptcy code 2016 receive the president's
assent

1) 5August 2016 2) 28May 2016
3) 15June2016

PT.O.



b) Matchthefollowing. [9]
1)  Negotiable Instrument Act 1) 1949
i)  Banking RegulationAct 2) 2006
i) Insolvency and Bankruptcy Code 3) 1881
Iv)  Banking Ombudsman Scheme 4) Promiseto pay
v)  Promissory note 5 2016

Q2) Short Notes (any 2 out of 4) : [10]
a Liquidation (clause- 45)
b) Dishonour of cheque
c) Ombudsman scheme
d) Objective of insolvency & Bankruptcy Code 2016

Q3) @ Explainany threeprovisionsin Banking Regulation Act 1949. [8]
b) Explain types of cheques. [7]

Q4) @ Explainthe objectives & importance of insolvency & Bankruptcy Code
2016. [8]

b) Explain Powers& Duties of Banking Ombudsman. [7]

VVVV

[5801]-519 2



Total No. of Questions : 4]

P2968

dz 2 M)
gear ;1)

[5801]-519
T.Y.B.Com. (Semester - V)
BANKINGAND FINANCE - 11

356 B : Banking Law and Practicesin India- |

(2019 Pattern) (CBCYS)

[T 7o - 50

fierTen S WL (FUTETE) uTen) [S]

i

Vi)

3) 1969

Teheaaard Fames wEer 19499 e — 17 oo, HETEE 3R,
1) el feh 2) = uEE

3) ke

3) IHe U A e

feares@dt anfor Arerd wfgan, 2016 & aguedi=n a9l ... ... foresTent.
1) 5ammre 2016 2) 28w 2016

3) 15s@ 2016

3 PT.O.



) woWeW gEtes wEEr 1)
i) ef Free 2)
iii)  FeeesErd anfo A Wi 3)
iv) sfeRT SreRaTe 4)
V) SeAuA 5)

gor 2) A e (e )

)
a)
)
2)

gy 3) )
)

gy 4)  A)

[5801]-519

st (wem 45)
TSI TR
R T

feamesEr anfut Arer wfgar 2016 3k

1949
2006
1881
U9 Qv a=E
2016

[5]

[10]

Feheaam™ fFame wEEErder 1949 udiie SRIvTE 6F aget W w. [8]

YATSYT ThR TY 1.

el sufor Tt @fgar 2016 < siEe 9 uga e +=.

VVVV

[7]

[8]
[7]



Total No. of Questions : 4] SEAT No. :

P2969 [Total No. of Pages : 4
[5801]-520
T.Y.B.Com. (Semester - V)
356 C: BUSINESSLAW & PRACTICE - 111

(2019 Pattern) (CBCYS)
Time: 2Hourg| [Max. Marks: 50
I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fillintheblank with the most appropriate alternative (Any Five) [9]
I)  The Custom Act, 1962 came into force on
(1 March 1962, 1% April 1963, 1% February 1962)

i) Any goods, theimport or export of whichissubject to any prohibition
under the CustomsAct or any Other law for thetime being in force,
Is known as

(Imported Goods, Prohibited Goods, Forbid Goods)
i)  The Goods & Services Tax is an Tax.
(Direct, Indirect, Income)

Iv) Article of the Constitution empowered the President to
Constitute Goods and Service Tax Council ?

(246A, 269A, 279A)
v) Taxesthat arelevied on any Intra-State purchase are
(IGST & UTGST, CGST & SGST, CGST & IGST)
vi) GST returns are to be filled :
(Manually, Electronically, Botha& b)

B) Matchthefollowing. [9]
Column A Column B
) 1% Country who implement GST | @  Fruits& Vegetables
i) Goods & Service Tax Act b) France
i) Chairman of GST Council c) 3%
Iv) Exempted Goods under GST d) FinanceMinister
v) Gold e 1%Jduly 2017

PT.O.



Q2) Write short note (Any Two) : [10]

a)
b)

c)
d)

Q3) g

b)

Q4) a)
b)

Transaction Value (Customs Act, 1962)
Central and State Taxes included Under GST
Role of GST Council

GST Returns

Explain the provisions of Customs Act, 1962 with regard to grant of

exemption from custom duty. [8]
What is Goods & Services Tax? Explain the types of Goods & Service
Tax. [7]

What is GST Exemption? Expiam Exempted goods under GST.  [8]
Explain the offences and penal provisions under GST Law. [7]

VVVV
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Time: 2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) A) Fillintheblanks(Any Five) : [9]
)  Group goalscan achievein __ Management.
a Co-operative
b) Company
C) Society
i)  Co-operéative principles are of Rules.
a Set
b) Law
c) Regulations
i) Human Resource management increases
a Profit
b) Productivity
c) Product
IV) The scope of HRM is limited to :
a Purchase
b) Sder
c) Training & Development
V) Interview isthe step in process.
a Recruitment
b) Retirement
c) Traning

PT.O.



vi) Vakunthbhai MehtaInstitute is situated at
ad Mumba
b) Pune
c) Nagpur
B) Matchthefollowing: [9]
X B

)  International co-operative a Essential for society

Alliance
i)  VANICOM b) Co-operativeprinciples
i)  Management Principles c) H.RM.
Iv) PerformanceAppraisal d) TrainingInstitute

v) Co-operativeManagement € International Body

Q2) Write short notes (any two) : [10]
a Functionsof co-operative management
b) Dutiesof Board of Directors
c) Importance of Decision making

d) Professionalisationin management

Q3) @ Statethe objectives of co-operative management. [8]

b) Statetheevaluation of co-operative management. [7]

Q4) @ Explainthe human relationship in co-operatives. [8]

b) Define Decision making. Stateitsimportance. [7]
PP P
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v 2) e formr. (ForErd@ g)

g 3) )

g 4) )
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HERN HATEATIAT I
HATcAF TSI T
e R EDER-FC
SEEATIATAA 9T

FEHN STTEATTAT IJeTee! T,
HEHN SHEEATTAT GodATeh ol

TEHRAA A T8l T8 .

[5]
HA) AEEIHE AR
¥) EERNE ad

®) HHEI GEYH HEEATIH
g)  wfvteror v

[10]

[8]
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[8]
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Total No. of Questions : 4] SEAT No. :

P2971 [Total No. of Pages : 3

[5801]-522
T.Y. B.Com. (Semester - V)
COST AND WORKS ACCOUNTING - 111
Techniques of Cost Accounting (356E)
(CBCS) (2019 Pattern)

Time: 2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto the right indicate full marks.

Q1) A) Fillintheblanks(Any Five) : [9]
)  Sales minus variable costs = Fixed cost plus
a Loss
b) Profit
c) Zero

i A budget is considered as a summery budget of all
functional budgets.

ad Cash
b) Sales
c) Master

i)  The success of costing simply depends on Mutual
trust. Co-operation and confidence.

a Uniform
b) Inter-firm
c) Magind

Iv) The Management Information system design should be
enough so as to provide alternate ways of processing data.

a Fixed
b) Hexible
c) Constant

PT.O.



v)  Supply chain management takes into consideration every facility

that has an impact on
a Administration
b) Director

c) Cost

vi) Technique of Marginal costing isavaluable aid to the

a Management
b) Cost Accountant
c) Financial Accountant

B) Matchthefollowing:

Group A
)  Fixed cost a
i) Variablecost b)
i)  Cash Budget C)
iv) SalesBudget d)
v)  Uniform costing 2)

Q2) Write Short Notes (Any two) :
a Objectivesof Inter Firm Comparison
b) Break - even point
C) Master Budget

d) Management Information system

[5801]-522 2

[5]
Group B

It is the forecast of cash
position for a particular period

It is the basic foundation upon
which other functional budgets
are build up.

It refers to the use by severa
undertakings of the same
costing principlesor practices.

Per unit this cost fluctuates
when volume of production
changes.

Per unit this cost remains
constant irrespective of
changes in the volume of
output.

[10]



Q3) @ Vitthal Ltd. Pune providesthe following cost data. [8]

Rs.
Sdes 1,50,000
Marginal cost 1,20,000
Gross Profit 60,000
Fixed overheads 20,000
Net profit 40,000
You are required to calculate
) Pl/vRatio
i) BEP(Sales)

i) Margin of safety when salesare Rs. 4,00,000
IV)  Net profit when sales are Rs. 4,00,000
v) Salesrequired to earn a profit of Rs. 80,000
b) Writethefeaturesof (MIS) Management Information System. [7]

Q4) @ The expenses budgeted for production at 100% capacity of Infosys

Ltd. Puneare given below : [8]
At 100% capacity
Direct Materias 6,00,000
Variable works overheads 2,00,000
Basic Wages 2,00,000
Fixed production overheads 80,000
Productive Expenses- Marginal 40,000
Administrative Expenses- Rigid 40,000
Selling Overheads - (10% fixed) 1,20,000
Distribution on cost - (80% variable) 60,000
Prepare a Flexible Budget for the production at 60% and 80%
capacity showing separately -
)  Prime cost, ii) works cost (iii) cost of production and iv) cost of
Turnover.
b) Explain the term 'Uniform costing'? State the advantages of Uniform
Costing. [7]
ololod
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P2972 [Total No. of Pages : 3
[5801]-523

T.Y. B.Com.
(356(F)) : BUSINESS STATISTICS - |11
(2019 Pattern) (CBCS) (Semester - V)

Time: 2Hoursg| [Max. Marks: 50
I nstructions to the candidates:

1) All question are compulsory.

2) Figuresto the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

Q1) a) Fill in the blanks (any five) : [5]
1)  p chart is type control chart.

i1) In game theory, if maximin # minimax then there does not exist
point.

ii1)) In replacement problem, maintenance cost is always

iv) We use criteria to average the elements of payoff of
corresponding strategy.

v) C-chart is used to control number of

vi) Electric fluctuation is belonging to causes.

b) State whether each of the statement given below is true or false : [5]
1)  p chart is used to control proportion of defectives.

i1)  If value of the game is greater than zero then game is called as fair
game.

1i1) Control charts are applying on continuous production process.

iv) Inreplacement problem we can use value of money which remains
the same during the period.

v) If quantity in hand is greater than demand then there exists
opportunity loss.

PT.O.



02) Attempt any two of the following :

a)

b)

d)

03) a)

Explain the following terms :

1)  State of nature [1]
i1) Capability index [3]
i11) Tolerance limits [1]
1)  State any two causes each from the assignable causes. [1]
i1) Give any two business situations where game theory can be used.
[1]
ii1)) Obtain the saddle point for the following game : [2]
Firm Y
, 11 —12
Firm X
—-17 19

iv) Give any two business situations where replacement problem can
be used. [1]
Solve the following game : [S]

Player B

B, B, B,B,

Al 3 2 7

Player A A,13 4 1 5

A6 5 7 6
The number of defects in 10 different carpets are as follows : [5]

1,0,2,3,1, 2,1, 3,0, 0. Construct C chart.

The maintenance cost and resale value per year of a machine whose

purchase price is Rs. 10,000 is given below : [8]

Year Maintenance cost (in Rs.) Resale value (in Rs.)
1 2,000 7,000
2 2,200 5,500
3 2,400 4,000
4 2,600 3,000
5 2,800 2,000
6 3,200 1,000
7 3,700 1,000
8 4,500 500

When should the machine be replaced?

[5801]-523 2



b)

04) a)

b)

For the following pay off table find the optional strategy by maximax,

maximin, Laplace criterion and Hurwicz criterion. [7]
(< = 0.8)
State of nature — N1 N2 N3 N4
Act
S1 120 70 80 30
S2 90 80 60 70
S3 70 80 80 110

The following data on the basis of fuses sample of 5 being taken every
hour : [8]

Sample 1 2 3 4 5 6 7 8 9 10 11 12
No.

Mean 69.4 63.4 57 64 574 82 85 334 461124 93.6 95.6

Range 45 48 62 48 36 81 78 42 69 84 48 75

Calculate control limits for mean and range. Also comment on whether
the process seems to be under control.

[n=5,A,=0577,D,=0,D, = 2.115]

Write the pay off matrix for the given situation. The demand for casesin
the retailer shop may be 13, 14, 15 with probabilities 0.2, 0.7, 0.1
respectively. Making cost and selling price of one case is Rs. 2 and
Rs. 5 respectively. Balance case is treated as waste. Also obtain
opportunity loss table. How much case should he make using EOL
criteria? Verify that optional strategy obtained by EMV and EOL criterion
are same? [7]

e
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Time: 2Hoursg|

[Total No. of Pages : 4
[5801]-524
T.Y. B.Com. (Semester - V)

BUSINESS ENTREPRENEURSHIP - 111

(2019 Pattern) (356(g))

[Max. Marks: 50

I nstructions to the candidates:
All the questions are compulsory.
Figures to the right indicate full marks.

1)
2)

01) a)

Fill in the blanks (Attempt any five out of six) : [S]

1)

ii)

iii)

1v)

Vi)

Organization Behaviour is

a) A Science b) An Art

¢) Science and Art

Organization Behaviour is the study of ___ in the organization.
a) human b) employer

¢) human behavior

is a study of individual behaviour.

a) Anthropology b) Psychology
¢) Sociology

Attitudes affect at a different level.
a) perception b) behavior

c) relations

Anand Mahindrareceived the Award for his outstanding
contributions to the business field.

a) Padmabhushan b) Padmavibhushan

¢) Rajiv Gandhi

As per , a group is a collection of individuals whose
existence as a collection is rewarding to the individuals.

a) Lewin b) Bass

c¢) Marvin Shaw

PT.O.



b) Match the following : [5]
1)  Autocratic Model a) Trait
i1) Personality Theory b) Bharat Forge
1i1) Baba Kalyani c¢) Nykaa
iv) Falguni Nayar d) Tea group
v) Informal Groups f) Power
02) Write short notes (Attempt Any Two) : [10]
a) Importance of Organizational Behaviour in entrepreneurship.
b) Personality Development in entrepreneurship.
c¢) Shiv Nadar.
d) Group Cohesion in entrepreneurship.
03) a) Explain the any four models of organizational behavior in
entrepreneurship. [8]
b) Explain the factors affecting on personality development for
entrepreneurship. [7]
Q04) a) Explain the contribution of Kiran Mazumdar-Shaw (Founder of Biocon
Limited). [8]
b) Explain the types of group dynamics in entrepreneurship. [7]

e
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Total No. of Questions: 4]

P2973 [5801]-524
T.Y. B.Com. (Semester - V)
BUSINESS ENTREPRENEURSHIP - |11
(2019 Pattern) (356(g))
(FUE EUTR)
q% : 2 a9 | [ Tegor 7707 - 50
g 1) @& g S fefgot stervash siea.
2) SSEREA 37 TEETE Ut U7 guifaaTa.
3) wewEE g g S ufien verE.

g 1) 1) fwmen Swm 9@ (KT g [5]
i) FHSATHER T .ovvvvrrrnnnnns AR
) e o &) TR el
&) fomm sufor wen
i) T g g .. AT IR
) WHEA ) Feen
®) HEE A
1) ceeernnnnns T AT Tereh ST A ITE TR,
A)  UFSTEIITE )  AEEITE
®) GHSITH
V) TG TR oo FEThIA T AT
A) wHA q) oG
®) HE™
V)  3THE AiEgT T AT SHaHE ST ShE TREHTEEE ..o
gEhR fHesTe.
)  UgEEn q)  ugnfE
&) Tl meh
V)  eeeeeerreiiinn, e ol g g Sardie TIg 3T, S Tg UL Sifeied
AT WS 3.
) e q) W
®) e I
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) SIS e [3]

i) gEAVITE Aise H) T
ii) At g ) XA B
iii) e weAmn %) AR
iv) W ARR ) TEMR
V) 3Hiuenies e 3) v
gvr 2)  fem forar (ot 9F) [10]

)  IGASTHAALS THETHS T Tged
F)  STANTRAAEA SfFH (TehTE

w) P e
g) IgUNIhAHEA THE Ul

g7 3) 3) SEASThAAA HEATCHR AT hivTdel IR HisH T . [8]
F)  STANTHAETS! SfRTHE fhTHIER URUTH FRUTR e T8 . [71

yyr 4) 1) TR gmeR-I (amaieRi e wRuTue) T daneE wE . [8]
q)  IGESTRAAIA TE Taviicde TR T . [7]
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Time: 2Hourg|

[Total No. of Pages : 4
[5801]-525

T.Y. B.Com. (Semester - V)
MARKETING MANAGEMENT - |11
(CBCYS) (2019 Pattern) (356 H)
[Max. Marks: 50

I nstructions to the candidates:
All questions are compulsory.
Figures to the right indicate full marks.

1)
2)

Q1) A)

Fill in the Blanks (any 5) : [5]

1)

ii)

iii)

The tools used to provide complete information give customers
about your goods and services are

a) Advertising work
b) The nature of the advertising
¢) Scope of adverting

d) Media of advertising

Hunger, thirst, rest, sleep are included in ________ motivation.

a) Social b) Primary

c¢) Physical d) Psychological
E-advertisement are more than all other types of
advertisement.

a) Beneficial b) Expensive

c¢) Fastor d) Broad

The head office of standard council of advertising in India is in

a) Delhi b) Mumbai
¢) Pune d) Kolkatta

PT.O.



v) Television is medium of advertisement.

a) Printed b) Visual
¢) Audiovisual d) External
vi) Kirloskar, Godrej & Tata are example of ______ brand.
a) Corporate brand b) Multi brand
c¢) Personal brand d) Range brand
B) Match the following : [5]
i) F.M. Centre a) Negative Emotional Approach
ii) Pop under Advertising b) Brand Development Index
1i1) Appeals of fear and anger ¢) Telecast media
iv) Love, Security, greed d) E-advertising
v) BDI e) Positive emotional Approach
Q2) Write short notes (Any 2) : [10]
a) Procedure of E-Commerce
b) Positive emotional Approach.
c¢) Advertising standards council of India.
d) Brand Extension.
03) a) Explain the functions of advertising in detail. [8]
b) How to create message of advertising? Explain in detail. [7]
Q4) a) Explain the causes of Waste in Advertising. [8]
b) Explain the types of Brand & it's Importance. [7]

ofo ofe ol
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P2974 [5801]-525
T.Y. B.Com. (Semester - V)
MARKETING MANAGEMENT - |1l
(CBCYS) (2019 Pattern) (356 H)
(TSt TUTaR)
de ; 2 ard] [TeBuT 7707+ 50
gar: 1) @d g et sifAard .

2) S AN 37k QUi U7 gYitaard.
3) dquiardt g USH TyAalAhT ugred.

g 1) 1) fwmen Smn W@ (ST ) [5]
i) TTEERIAT SATIea S 3T B =i TRl Jifeedt Juarandt aroret! ST
TR TR ......... .
H)  iea wE q) A
%) AR ST T) i Hiemm
ii) W g, faend, su A ... TRUTHER 3Tawia et
H) AR ) WA
%) wifas T) AHEvTEE
iil) TR T TR RIS g S-S SR ......... T,
A) A ) Wrw
F) HEH T) AUE
iv) R i T uReee §6d wEie ......... ... A IR
a) faeelt ) °E
%) o T)  wicteRl
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H) B q) gH
%) TwAA ¥) =
vi) ToReITEaRy, ek, ST T R ..o N SiE IFET AR,
) HUNE TS q) HLHE
) Stk 3 g) WS
) e g [5]
i) Um.TA. %y H) THRTHS WEHH FEhA
i) i 3T e q) e fowla fdere
iii) T & weh enegm ®) LU HILgH
iv) W, TRern, Wg (W) T) 3 - A
v) g e, Z) UhNIcHeE: WA HATgH
gy 2)  fem femn. (wwormd 3m) [10]
H)  I-HiAE HETGHA

q) ERNHS HIEMHS GEHH
®) WRAE A STHI0Th TS

g) Hgrfowr
v 3)  3A) WA e AfeReR T . [8]
F) A HeYl THET TR HUTITAT ATEEEA HITgal ToTal. [7]
9T 4)  H) AN SISTITE HRO T . [8]
F) oY UHR AT = Hged TIE A0, [7]
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P2975

[Total No. of Pages : 4
[5801]-526

T.Y. B.Com. (Semester - V)

AGRICULTURAL AND INDUSTRIAL ECONOMICS - |11

Time: 2Hoursg|

(CBCS) (2019 Pattern) (356 (i))
[Max. Marks: 50

I nstructions to the candidates:
All gquestions are compulsory.
Figures to the right indicate full marks.

1)
2)

01) A)

Fill in the blanks (Attempt any 5 out of 6) : [S]

1)  The industries are heavily depends for raw material on
(Manpower, agriculture, training, Education)

11)  Financial sector reforms was takeplace in in India.
(1995, 1974, 1968, 1991)

ii1) The agricultural credit in India mainly provided by
(Commercial bank, Private banks, cooperative banks, foreign
banks)

iv) To develop agriculture sector, for long term, the farmers well
need  credit
(short term, long term, medium term, day-one credit)

v) The industries were reserved only for the public sector
before the deregulation of the industrial sector in 1991.
(11, 20, 17, 23)

vi) Deregulation of the industrial sector is the broad feature of New

industrial policy of

(1997, 1999, 1991, 1978)

PT.O.



B)

Match the following : [5]
1)  Foreign Indirect investment a) New Industrial policy 1991
i1) Companies working in

various countries b) Sustainable Development
iii)) Abolition of MRTP act c) Cooperative Institutions
iv) Meeting the need of future

generation d) FII

v)  Source of agricultural credit e) MNC's

(Q2) Write a short notes (any 2 out of 4) : [10]
a) Role of SEZ in Economic development
b) Types of agricultural credit
c) Features of Rural economy
d) Shortcomings of New Industrial Policy 1991
03) a) Explain the broad features of New Industrial Policy - 1991. [8]
b) Explain the role of micro finance in rural credit. [7]
Q4) a) State the role of multinational corporations in economic development.
[8]
b) Explain the impact of New Industrial Policy on Indian Economy. [7]

ofo ofe ol
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Total No. of Questions: 4]

P2975 [5801]-526
T.Y. B.Com. (Semester - V)
AGRICULTURAL AND INDUSTRIAL ECONOMICS - |11
(CBCYS) (2019 Pattern) (356 (i))
(TSt ®UTR)

de ; 2 ard] [ BT 7707 : 50
gaar: 1) @ 999 qislavt sTavasE sie.

2) SwEitwEie sieh TvATel qUT OT FyifeaT.

3) @qwiaet qes Fasf SeateHT argref.

g 1) 31) femwen smm L (AR a) [5]
i)  3ieEmiieh & %= AIATEET ..o..o..o. TR HIGIT THIUTIER ST 3118,
(A=, Ve, wfvteron, foreron)
i)  HRAE oo AeA foreita =T GUwon ggd STedT.
(1995, 1974, 1968, 1991)

(3TcURTeAA, TR, AeaHeRTelA, U faadi™)

v) 1991 = siterniies e fafiesia SRomge ............ ISR ATESh
GATETS! TEE 2.

(11, 20, 17, 23)

Vi) e = T Siicurie SRS sftgeiies e fafres @ e
Sfvrea g

(1997, 1999, 1991, 1978)
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F) S e
i) Tocht yeet aauEs
i) fafay oma wwERa wut
iii) T 3R & f wEEw Fiew
iv) wrelt fudieen TReT=it g
v) et o g @

[S]
1) 1991 = 7 aiteuniies iR
) Ve foewm
®) TEHR TE
3) Tk AT JA™

3) TAHTH

¥ 2) e feran. (v EM) [10]
) 3N R AgTit Wi
)  FH o TR
®) Ui StefeTeEe afvTest
g) 1991 = AEA 3iteeiniich SIRUTa Shaval
ggr 3) 1) 1991 = AEA Sicuriieh SRUTRN @ ATl . [8]
F) I IEsTTdie Hg ol AT TS & [7]
gt 4) ) onfde foeRmETe SgUEE U iR WM. [8]
q) A icuniieh SRUT AR Tfeaaedadict Ture T8 . [7]
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P2976 [Total No. of Pages: 4
[5801]-527

T.Y. B.Com. (Semester - V)
DEFENCE BUDGETING, FINANCE & MANAGEMENT - 111 356 (J)
(2019 Pattern)

Time: 2%2Hours] [Max. Marks: 70
I nstructions to the candidates:

1) All questions are compulsory.

2) Figurestotheright indicate full marks.

Q1) Attempt any five of the following [5x2=10]
1)  Define financial management.
i1) Define the economic system.
1i1) Define public good.
1v) Define micro economics.
v)  What is the financial advisor?

vi) State the defence budget structure.

02) Attempt any four of the following [4x5=20]
1)  Financial advisor
11) Defence account department
ii1) Defence budget
1v) Micro economics

v) Auditor general

03) Attempt any four of the following [4x5=20]
1)  State economical theory of Defence.
11)  Explain the concept of public good.
111) Explain the defence and development.
1v) Explain principles of the financial system.

v)  Explain the defence budget allocation.

PT.O.



04) Attempt any two of the following [2 x 10 = 20]
1)  Explain in detail the role of financial advisor of Defence.
11) Explain in detail the role of the defence account department.

1i1) Explain in detail the structure of a five years defence plan.

u|mim
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P2976 [5801]-527
T.Y. B.Com. (Semester - V)
DEFENCE BUDGETING, FINANCE & MANAGEMENT - 111 356 (J)
(2019 Pattern)

(TSt EUTR)
de ;2% ard] [TeBuT 7707 : 70

gear: 1) @ gy siHa.
2) SdIhEleT 37k T FYItAAr.

97 1) WIceicideh! ShivTagl uTel 99 | [5x 2=10]
) AR HASHE SIRE .
i)  smieien Srewen =me .
iii) Usciieh TS SATEAT .
iv) WIEshIgehiATeE SITEa .
V)  WEHATREE Sesgeie U & ?
vi) ERUT JNHEReUTel ST 9.

v 2) Fc'mf%rg (ﬁmﬁé’rw) [4 x 5= 20]

iii) ER&IUT efEhey

97 3) WIciiciieh! ShivTdgl TR I9 Sgd. [4 x 5= 20]
i)  weuTen nferes fagra wmm.
ii) UscHieh I[e HehedAT T A
iii) EReuT anfur fereRra wE .
iv) wEATEe R gera |nm.
v) feta s9ie ey W .

3 P.T.O.



97 4)  Wicicideh! ShivTdgl S 999 Hiee. [2 x 10 = 20]
i)  EREIUTIHC WEHATINA STSEEERE HHR! e T8 .

ii) Teth oreRee feurdnesh Yt aferr T &.
iii) EREUT TN Ao e Gf) T .
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[5801]-528 [Total No. of Pages : 4

T.Y.B.Com.

356 K : INSURANCE, TRANSPORT & TOURISM - I1I (Insurance)

(2019 Pattern) (Semester - V) (Regular)

Time : 2% Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) a)

Fill in the blanks (any 5) [5]
1)  As a trustee, an insurer is responsible to
a) The IRDA
b) The Policyholder
c¢) The Government
i)  In which case the help of agent is most useful?
a) Death claims
b) Survival benefits
¢) Maturity claims
) A person is an insurance agent because of
a) Hisknowledge
b) Hisservice
c¢) Hissalary
1v)  Which one of the following does not belong to the major general
insurance private sector companies in India?
a) Royal Sundaram Alliance Insurance
b) The Oriental Insurance Company
c¢) Reliance General Insurance
v) Financial underwriting is done to evaluate
a) The possibility of moral hazard
b) The probability of the policy lapsing in future
c) Both lapse and moral hazard probabilities.
vi) Reinsurance refers to the practice by insurance companies of ______

a) Issuing new policies.
b) Renewing existing policies
¢) Buyinginsurance from another firm

PT.O.



b)

Match the following: [5]
Group ‘A’ Group ‘B’
1)  Risk management a) Insurers use to determine

the riks of insuring

i)  Underwriting b) Carry out claim surveys
i) Surveyors c)  Third party administrators
iv) Medical examiners d) 50%
v) Foreign direct investment in e) The practice of identifying
insurance sector in India and analyzing loss
exposures
)  100%

g)  Experts in health insurance

Q2) Short notes (Any 2) [10]
a) Risk management
b) Process of Underwriting.
c) Role of surveyors in insurance sector.
d) Privatization of insurance sector in India
03) a) Explain the different techniques of transfer of risk [8]
b) Give the objectives and principles of underwriting in insurance. [7]
Q04) a) Explain the role of medical examiner in insurance sector in detail.  [8]
b) State the challenges and future of Insurance Business in India. [7]

363836
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Total No. of Questions : 4]

P6477 [5801]-528
T.Y. B.Com.
356 K : INSURANCE, TRANSPORT & TOURISM - I1I (Insurance)
(2019 Pattern) (Semester - V) (Regular)
(TS FUTR)
A : 25 A [ T O 50
goi:- 1) w6 U SamE TR

2) STAIhEA AThRS YT T[0T gYifeard
3)  dHewiardl Ye Sus Uyuten ugE.

Y.1) ) Terman SIm W, (SHI0TdE ute) [S]
i) fovam wgum, fmmeRat . 1 SEEER 3.
1) IRDA (g=1)
)  UiferEaRes
*) WEHR
i)  SRIUTCN TRAUTA USiceil Hed Taid SUgrh 3118 ?
) TR I
q) oI wEe

&) T WIR

iv) WIcelicTdeh! IV WRATS T A= o ot Trert St o=t
Tt A ?
3) WWWW

q) Hfred qifeTEt +iod guameh Il
&) ek I Afdes eveRt el ST
3



vi) AT TgUTS T Shu=aTe ERET e M IR,
) A LR A

F) o gRuT AT
%) O g for W WOt

§) e e [3]
e e T
) REW e 1)  fTermena o srevam=! 2k ity suamaTdt
SR
i) srEwAteE ) T AUt
iii) HAeT® F) T UL AR
iv) dudm uler T 50%
V) WA o g e foaent 3) ToRE uemuieR sieswt st faversun
T Ea
%) 100%
T) R fom ag
¥.2) few fergt. (shtorend ) [10]

) I SR

) STEWEiET= gtk

%) fom emwiier TdemTRaTE iHeR
g) YRATe fon e ErenieT

¥.3)31) EW gEaraRuean fafaer qeie SasieRtun & [8]
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T.Y. B.Com. (Semester - V)
SOFTWARE ENGINEERING - |
Computer Programming and Application (Special Paper I11)
(2019 Pattern) 356 (L)

Time: 2Hoursg| [Max. Marks: 50
I nstruction to the candidates:

1) All questions are compulsory.

2) Figures to the right Indicate full marks.

Q1) A) Fill in the blanks. (Attempt any 5 out of 6) [9]
1)  The first step in the SDLC is
a) Analysis b) Design
c¢) Problem Identification d) Development
11) 1s characteristics of software Process.
a) Understanding b) Visibility
c) Reliability d) All of the above

111) RAD stands for
a) Rapid application Development

b) Rapid application model
c¢) Rapid application Design

d) Recent application Development

1v) is proposed the spiral model.

a) Barry Bohem b) Pressman

¢) Royce d) IBM
v)  Quality management is known as

a) SQI b) SQA

c) SQM d) SQA and SQM
vi) is system software.

a) Computer Program b) Testing
c) Al d) 10T

PT.O.



B) Match the following : [9]

List I List II
a) Spiral Development 1)  Explicit Recognition of Risk
b) Water fall model i1)  Specification can be
development incrementally
¢) Evolutionary Model ii1) Requirement comprises are
inevitable
d) Component based iv) Inflexible partitioning of the
software engineering project into stages
02) Short Notes (any 2 out of 4) [10]
a) Characteristics of system
b) Spiral model
c) SRS
d) System Analyst.
03) a) What is system? Explain system elements and types. [8]
b) Explain feasibility study & it's types. [7]
04) a) What is software engineering? Explain it's needs and characteristics.[§]
b) Explain waterfall model with advantages and disadvantages. [7]
aooo
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T.Y.B.Com. (Vocational)
355(A) Computer Applications- |
(CBCS) (2019 Pattern) (Semester - V)
Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

1) All questions are compulsory.
2) Figure to the right indicate full marks.

Q1) A) Fillintheblanks. [9]
i)  Python file has extension.
a .python b) .py
c) .pth d .p
i)  Python was developed by
a Ken Thompson b) DennisRitchie
c) NieneStom d) Guido van Rossum
i)  Singlelinecommentisgivenby  character in Python.
a # b) /I
c) & d %
Iv)  Which of the following istruncation division operator in python.
a \ b) \\
c) [/ d 1/
V) IS not a core data type in python.
a Tuple b) Lig
c) Class d) Dictionary
B) Matchthefollowing: [5]
a 1520 ) ()
b) Symbol for list datatype i) complex value
c) Symbol for tuple datatype i) floatvalue
d) Symbol for dictionary datatype iv) []
e 314 v) {}

PT.O.



Q2) Write short notes on. (any 2)

a)
b)

c)

Features of Python
Variablesin Python

Q3) Answer thefollowing. (any 4)

a)
b)
c)
d)
©)

Explain for loop in python with syntax and example.
Explainlist datatypein pythonwith example.

Write a python program for addition of two numbers.
Explainrelational and logical operatorsin python.

Write a python program to display maximum of two numbers.

Q4) Answer thefollowing. (Any 1)

a)
b)

Explain any five applications of pythonin detail.

Explain break and continue statements with syntax and example.

QOO0
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T.Y.B.Com. (Vocational)

Advertising, SalesPromotion & SalesM anagement

(Paper - V) (355 (B))
(CBCS 2019 Pattern) (Semester - V)
[Max. Marks: 50

I nstructions to the candidates:
All gquestions are compulsory.
Figures to the right indicate full marks.

1)
2)

Ql) A)

Fill inthe blanks. [9]

),

ii)

It involves Planning and co-ordination of sales efforts.
a8  product distribution b) SaesManagement
c) Marketing d) Labdling

Providing Motivation to sales force is the prime responsibility of

a CEO b) Finance Manager

c) SalesManager d) Marketing manager
Most organisations used their sales force to reach

a Customers b) Traders

c) Competitors d) Saes

Following isthe not part of sales management.

d Recruitment b) Moativation
c) Peaformanceappraisal d) Exitinterview
It is basic objectives of sales management.

d Tomaintainsaes b) Advertise

c) Communicate d) Finance

PT.O.



B) Matchthepairs.

a)
b)
c)
d)
©)

Process of organisation of sales efforts 1)

Advertisement in newspaper 2
SalesPlanning 3)
Written test 4)
Fair pay packet 5)

Q2) Write short notes on. (any 2)

a)
b)
c)
d)

Importance of sales planning

External sources of recruitment

Methods of motivation to sales persons

Challenges before salesmanger

Q3) Answer thefollowing. (any 4)

a)
b)
c)
d)
©)

f)

Methods of training of salesman

Steps in sales Control

Need of sales planning

Selection process of sales person
| dentiflcation of salesforce
Role of sales manager

Q4) Answer thefollowing. (Any 1)

a What doyou mean by Sales Management? Explain Need and importance
of sales management in current scenario.

[5]
Sourceof recruitment
setting objectives
motivation
sales management
Selection process

[10]

[20]

[10]

b) Writedetail note on training and motivation to salespersons.
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T.Y.B.Com. (Vocational)

TAX PROCEDURE & PRACTICES (Paper - 1)

CustomsDuty (355C)

(2019 Pattern) (Semester - V) (CBCYS)
[Max. Marks: 50

I nstructions to the candidates:
All questions are Compulsory.
Figures to the right side indicate full marks.

1)
2)

Q1) A.

Choose the correct answer (Any Five) : [9]
)  As per Customs Act, 1962, Conveyance includes

a Vess

b) Aircraft

i

c) Vehicleincludingrailway vehicle

d) All of theabove

Territorial water of India extends up to :

a 24 nautical milesinto the seafrom the appropriate baseline
b) 24 nautica miles

c) 12 nautical milesinto the seafrom the appropriate baseline
d) 12nautical miles

In case of import of goods, taxable event occurs when

a Goods crosses the territorial water

b) Goods crosses the customs barrier

c) Goods have been dispatched by the supplier

d) Goods become the part of land mass of India

The relevant date for duty payable on pilfered goods is the date of

a filingof bill of entry

b) order of clearance

c) filing of Import General Manifest or Report
d) grantingentry inward

PT.O.



V)

Vi)

Social welfare surcharge islevied at the rate of

ad 10% of assessable value + basic custom duty

b) 10% of basic custom duty + additional custom duty
c) 10% of basic custom duty

d) 10% of assessable value

Any goods, theimport or export of which issubject to any prohibition
under the CustomsAct or any Other law for thetime being in force,
Is known as

d Restricted Goods
b) Ineligible Goods

c) Prohibited Goods
d) Botha& cabove

B. Satewhether the following statement isTRUE or FALSE :  [5]

a  Export means bringing into Indiafrom aplace outside India

b) The Central Government can impose safeguard duty to domestic
industry.

Cc) Asper section 14(1) of Customs Act, transaction value means the
price actually paid or payable for goods.

d) As per section 2(3) of Customs Act, 1962, baggage includes
unaccompani ed baggage and motor vehicles also.

e) Territoria water of Indiaextendsup to 15 nautical milesinto the sea
from the appropriate base line.

Q2) Write Short Notes (Any Two) : [10]

a Indianterritorial water and Indian customswater
b) Disposa of Prohibited Goods

c) Safeguard Duty

d) Anti-Dumping Duty

[5801]-532



Q3) Answer the following questions (Any Four) :

a)
b)
c)
d)
©)

f)

What arethe different provisionsregul ating baggage?
How to Define Person-in-charge?

How to Define Dutiable Goods and Imported Goods?
What is Transaction Value?

How to Define Goods under Custom law?

How would you define foreign-going vessels or aircraft?

Q4) Answer any One of the following questions :

a)
b)

What are the different types of Customs Dutiesin India?

Explain the import and the export procedure under Customs.

[5801]-532 3
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T.Y.B.Com. (Vocational)

356Avoc: COMPUTERAPPLICATIONS-II

(2019 Pattern) (Semester - V) (CBCYS)
[Max. Marks: 50

I nstructions to the candidates:
All questions are compulsory.
Figures to the right side indicate full marks.

1)
2)

Q1) A.

Fill in the blanks. [9]
1)  Which of thefollowing is not a phase of web site development?
d Panning b) Desgn
c) Coding d) Managing
i)  Amazonisanexampleof  typeof website
ad Socia mediawebsite b) E-Commerce Website
c) Portfolio Website d) Financial Website
Iii) refers to the link structure and hierarchy of awebsite.,
a Searching b) WebsteLinking
c) Websitenavigation d) Paging
V) Is the process of creating websites.
ad Webplanning b) Webdesign
c) Webmaking d) Web pyramid
V) Is the address of your website that people typein the
browsers URL bar to visit the website.
a DefinitionName b) Internet name
c) Description Name d) DomanName
Matchthefollowing: [9]
i)  Internet Explorer ad Elementsof Website design
i)  WebHosting b) SearchEngine
i) Timdine c) Web Browser
Iv) Layout, Colour, Graphics d) WebsitePublishing
v) Bing e) Phaseinplanning website

PT.O.



Q2) Write Short note on (Any TWO)
a SiteStructure
b) Web Page Layout
c) SearchEngine

Q3) Answer thefollowing (Any FOUR)
a) Explain Web site planning for web design.
b) Explaininteractive and static types of websites.
c) ExplanDomain Name System.
d) Explainthe process of website hosting.
e Explain Web Development Process Model.

Q4) Answer thefollowing (Any ONE)
a Explainvariousfactorsinfluencing web sitedesign.

b) What isWeb application Architecture? Explain its components.

[5801]-533 2

[10]

[20]

[10]



Total No. of Questions : 4] SEAT No. :
P2982

[Total No. of Pages : 2
[5801]-534
T.Y.B.Com. (Semester - V)

ADVERTISING, SALESPROMOTION & SALES

MANAGEMENT - 111

Marketing (Vocational Course) (Paper - VI) (356 (B))

(2019 Pattern) (CBCYS)

Time: 2%2Hours] [Max. Marks: 50
I nstructions to the candidates:

All questions are compulsory.

Figures to right indicate full marks.

1)
2)

Ql) A)

Fill intheblanks. [9]

)

i

It is a systematic study of problems related to marketing of goods
and services.

ad Product knowledge b) SaesManagement

c) Marketing Research d) Basicresearch
Effective marketing research process includes

a Developing Plan b) Costanalysis

c) Salesroutine d) Marketingmanagement
Cultural valuesin the county states

a Politica environment b) Cultura environment

c) Competitors d) Legd policies

It ismarketing of organisation to develop overall image.
a Greenmarketing b) NicheMarketing

c) Bluemarketing d) AffiliateMarketing
It is basic advantage of digital marketing is

a Lower Cost b) Globa reach

c) Loca market d) Digtrictwholesaer

PT.O.



B) Matchthepairs.

a) Digita marketing 1)
b) Greenmarketing ii)

c) Affiliatemarketing i)
d) Marketingenvironment iv)
€) Promotion manager V)

Q2) Write short noteon (any 2) :

a)
b)
c)
d)

Importance of Affiliate marketing
Role of Promotional Manager
Functions of Product manager
Green marketing

Q3) Answer thefollowing (any 4) :

a)
b)
c)
d)
€)

f)

Need of marketing research
Career opportunitiesin marketing
Role of Market research Manager
External Marketing Environment
Digita Marketing

Techniques of marketing research

Q4) Answer thefollowing (any 1) :

[5]
Promotion of product
Wide coverage
Environment Friendly products
Establishing connection through blogs
Economical and political factors

[10]

[20]

[10]

a) State and explain objectives and significance of Marketing Research.

b) Writeadetail note on recent trendsin marketing.

VVVV
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T.Y.B.Com. (Vocational) (Semester - V)

356CVOC - TAX PROCEDURE & PRACTICES(Paper - 11)
Entrepreneur ship Development and Pr oject Report

Time: 2Hourg|

(2019 Pattern) (CBCYS)
[Max. Marks: 50

I nstructions to the candidates:
All gquestions are compulsory.
Figures to right side indicate full marks.

1)
2)

Ql) A)

Choose the correct answer (Any Five) [9]

),

i

Vi)

The term “Entrepreneur” has been derived from the word
“enturondre” which means:

a Togive b) To undertake
c) To choose d) To decide
|FCI stands for

d Industrial finance corporation of India
b) Institutional finance corporation of India
c) Industrial funding corporation of India
d) Indianfinance corporation andinstitution
To provide financial assistance to entrepreneurs, the government
has set up a number of .
ad Financia advisors b) Financia intermediaries
C) Industrial estates d) Financia ingtitutions
IS not a source of idea for an entrepreneur.

a Cost of the project b) Product profile

Cc) Imports and exports d) Emergingtechnologies

| ndian Entrepreneurship Development Institute (IEDI) islocated .
d InAhmedabad b) InMumbai

c) InNew Delhi d) InChennai

A small-scaleentrepreneur isaformal -sector entrepreneur with .
d 11to 50 employees b) 11 to 49 employees

c) 16to49 employees d) 16to 50 employees

PT.O.



B) Sate whether the following statement is True or False. [9]

i)  Educate, Stimulate and Incubate can be used in helping Student
Start-ups.

i)  Entrepreneurs of large-scale businesses like Tata, Birla, etc. are
Instigated Entrepreneur.

i)  Financial analysis is primarily concerned with the identification,
qualification and evaluation of the project resources.

IV) The entrepreneur always introduces something new or can be an
imitator.

v) Individual Entrepreneursand Institutional Entrepreneursare same.

Q2) Write Short Note (Any Two) : [10]
ad Roleof Commercia Banks
b) Functions of DIC
c) Missionof MSME
d) PradhanMantri MUDRA Yojana(PMMY)
€) Scope of Entrepreneurship
Q3) Answer the following questions (Any Four) : [20]
a) Definetheterm ‘entrepreneur’ and list out the functionsof entrepreneurs.
b) Discusshow thecommercial banks help entrepreneurs by granting credit.
c) Discussthe functions of Pollution Control Board (PCB).
d) Whatismean by Entrepreneurial Competencies?
e) Explainthe advantages of Self-help group.
f)  What arethefunctions of State Industrial Development Bank (SIDBI)?
Q4) Answer Any One of the following questions. [10]
a Discuss the Central Government schemes and support systems for
Entrepreneurship Development in India?
b) Explaintheneed & importance of Entrepreneurship.

VVVV
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